hBx40 - 1x

M10x35 - &x

M12x70 - 2x [A)
M12x70 - 2x ()
M12x19 - 4% [C)

SMB - 1x

M10 - 10x
._ M12 - 2 (A, )

P& - 1x
FPI10 - 12x

PP12-2x (A, )
PP12 - 4x [C)

P10 - 8x @ PR14 - 1x

M12x90 [10.9) - 2%
110 Nm!

AlC 32502

M12x70 - 2x°

DETAIL

VOLVO XCé60, VOLVO XC90 A
Kod: VOB35(A1C) 19. 10, 2022




